

51609.3.1

TIP NO HB-0072

0.126 MILES

FED AID NO 5160901

GRADING DRAINAGE PAVING STRUCTURE

BRIDGE NO 199 OVER FORD CREEK ON SR 1629 FLAT ROCK ROAD

				S T WOOTEN CORPORATION		SANFORD CONTRACTORS INC		SMITH-ROWE, LLC			
				WILSON, NC		LEMON SPRINGS, NC		MOUNT AIRY, NC			
<b>ROADWAY ITEMS</b>											
0001	0000100000-N	800	MOBILIZATION	Lump Sum		58,500.00	61,360.00		62,000.00		
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum		18,125.00	17,730.00		15,500.00		
0003	0036000000-E	225	UNDERCUT EXCAVATION	200	CY	1.00	200.00	25.00	5,000.00	1.00	200.00
0004	0043000000-N	226	GRADING (226)	Lump Sum		76,000.00	125,000.00		198,255.00		
0005	0050000000-E	226	SUPP CLEARING & GRUBBING	1	ACR	1.00	1.00	0.01	0.01	1.00	1.00
0006	0134000000-E	240	DRAINAGE DITCH EXCAVATION	20	CY	20.00	400.00	0.01	0.20	20.05	401.00
0007	0195000000-E	265	SELECT GRANULAR MATERIAL	200	CY	5.00	1,000.00	25.89	5,178.00	1.00	200.00
0008	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	200	SY	1.00	200.00	3.75	750.00	5.25	1,050.00
0009	0248000000-N	SP	GENERIC GRADING ITEM (LS) TYPE 1 BRIDGE APROACH FILL (-LREV- STA 18+36.00)	Lump Sum		25,000.00	30,000.00		17,425.00		
0010	0318000000-E	300	FND CONDIT MATL MINOR STRS	10	TON	5.00	50.00	27.26	272.60	43.40	434.00
0011	0321000000-E	300	FND CONDIT GEOTEXTILE (4A)	40	SY	1.00	40.00	3.75	150.00	7.05	282.00
0012	0335200000-E	305	15" DRAINAGE PIPE	40	LF	124.04	4,961.60	12.85	514.00	136.92	5,476.80
0013	0348000000-E	310	*** SIDE DRAIN PIPE ELBOW (15")	4	EA	620.00	2,480.00	131.61	526.44	943.85	3,775.40
0014	0448200000-E	310	15" RCP CULV CLASS IV	52	LF	130.00	6,760.00	52.89	2,750.28	105.35	5,478.20
0015	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	50	SY	130.00	6,500.00	35.00	1,750.00	55.35	2,767.50
0016	1491000000-E	610	ASP CONC BASE CRS B25.0C	480	TON	120.00	57,600.00	110.00	52,800.00	110.00	52,800.00
0017	1519000000-E	610	ASP CONC SURF CRS S9.5B	370	TON	110.00	40,700.00	110.00	40,700.00	110.00	40,700.00
0018	1575000000-E	620	ASP FOR PLANT MIX	50	TON	525.00	26,250.00	610.00	30,500.00	610.00	30,500.00
0019	2000000000-N	806	RIGHT-OF-WAY MARKERS	10	EA	350.00	3,500.00	160.50	1,605.00	325.00	3,250.00
0020	2286000000-N	840	MASNRY DRAINAGE STRUCT	3	EA	4,500.00	13,500.00	1,245.93	3,737.79	4,403.34	13,210.02
0021	2367000000-N	840	FRAME W/2GRTS 840.29 STD	3	EA	1,100.00	3,300.00	562.18	1,686.54	1,316.53	3,949.59
0022	2556000000-E	846	SHOULDER BERM GUTTER	80	LF	62.00	4,960.00	50.89	4,071.20	88.00	7,040.00
0023	3030000000-E	862	STL BEAM GUARDRAIL	350	LF	24.00	8,400.00	24.00	8,400.00	24.00	8,400.00
0024	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	11.00	55.00	11.00	55.00	0.01	0.05
0025	3215000000-N	862	GR ANCHOR TYPE III	4	EA	2,250.00	9,000.00	2,250.00	9,000.00	2,250.00	9,000.00
0026	3287000000-N	862	GR END TYPE TL-3	4	EA	3,250.00	13,000.00	3,250.00	13,000.00	3,250.00	13,000.00
0027	3635000000-E	876	RIP RAP, CLASS II	100	TON	100.00	10,000.00	36.26	3,626.00	66.65	6,665.00
0028	3649000000-E	876	RIP RAP, CLASS B	60	TON	73.00	4,380.00	33.26	1,995.60	65.60	3,936.00
0029	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	500	SY	1.00	500.00	3.75	1,875.00	5.20	2,600.00
0030	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	8	EA	50.00	400.00	10.00	80.00	50.00	400.00
0031	4400000000-E	1110	WORK ZONE SIGNS (STAT)	426	SF	7.92	3,373.92	8.00	3,408.00	15.00	6,390.00
0032	4410000000-E	1110	WORK ZONE SIGNS (BARR)	94	SF	9.95	935.30	7.95	747.30	10.00	940.00
0033	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	2	EA	7,500.00	15,000.00	3,800.00	7,600.00	5,050.00	10,100.00
0034	4445000000-E	1145	BARRICADES (TYPE III)	64	LF	22.68	1,451.52	22.50	1,440.00	35.00	2,240.00
0035	4685000000-E	1205	THERMO PVT MKG LINES 4"90	2,740	LF	1.25	3,425.00	2.10	5,754.00	2.10	5,754.00
0036	6000000000-E	1605	TEMPORARY SILT FENCE	975	LF	2.95	2,876.25	3.00	2,925.00	2.95	2,876.25
0037	6006000000-E	1610	EROS CONTRL STONE CL A	75	TON	20.00	1,500.00	0.01	0.75	1.00	75.00
0038	6009000000-E	1610	EROS CONTRL STONE CL B	140	TON	73.00	10,220.00	0.01	1.40	1.00	140.00
0039	6012000000-E	1610	SEDIMENT CONTROL STONE	80	TON	52.00	4,160.00	0.01	0.80	1.00	80.00

51609.3.1

TIP NO HB-0072

0.126 MILES

FED AID NO 5160901

GRADING DRAINAGE PAVING STRUCTURE

BRIDGE NO 199 OVER FORD CREEK ON SR 1629 FLAT ROCK ROAD

				S T WOOTEN CORPORATION		SANFORD CONTRACTORS INC		SMITH-ROWE, LLC			
				WILSON, NC		LEMON SPRINGS, NC		MOUNT AIRY, NC			
0040	6015000000-E	1615	TEMPORARY MULCHING	0.5	ACR	2,500.00	1,250.00	1,200.00	600.00	2,500.00	1,250.00
0041	6018000000-E	1620	SEED FOR TEMP SEEDING	100	LB	3.00	300.00	5.00	500.00	3.00	300.00
0042	6021000000-E	1620	FERT FOR TEMP SEEDING	0.5	TON	400.00	200.00	1,500.00	750.00	400.00	200.00
0043	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200	LF	1.00	200.00	0.01	2.00	1.00	200.00
0044	6029000000-E	SP	SAFETY FENCE	260	LF	2.00	520.00	3.00	780.00	2.00	520.00
0045	6030000000-E	1630	SILT EXCAVATION	190	CY	1.00	190.00	0.01	1.90	1.00	190.00
0046	6036000000-E	1631	MATTING FOR EROS CONTROL	5,745	SY	1.80	10,341.00	2.00	11,490.00	1.80	10,341.00
0047	6037000000-E	1629	COIR FIBER MAT	100	SY	5.80	580.00	5.00	500.00	5.80	580.00
0048	6042000000-E	1632	1/4" HARDWARE CLOTH	220	LF	6.00	1,320.00	7.00	1,540.00	6.00	1,320.00
0049	6071002000-E	1642	FLOCCULANT	35	LB	1.00	35.00	25.00	875.00	0.01	0.35
0050	6084000000-E	1660	SEEDING AND MULCHING	0.5	ACR	6,000.00	3,000.00	6,000.00	3,000.00	6,000.00	3,000.00
0051	6087000000-E	1660	MOWING	0.5	ACR	300.00	150.00	250.00	125.00	300.00	150.00
0052	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	5.00	250.00	5.00	250.00	5.00	250.00
0053	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	500.00	125.00	1,500.00	375.00	500.00	125.00
0054	6096000000-E	1662	SEED FOR SUPP SEEDING	50	LB	5.00	250.00	10.00	500.00	5.00	250.00
0055	6108000000-E	1665	FERTILIZER TOPDRESSING	0.5	TON	500.00	250.00	1,500.00	750.00	500.00	250.00
0056	6111000000-E	SP	IMPERVIOUS DIKE	232	LF	20.00	4,640.00	116.21	26,960.72	1.00	232.00
0057	6114500000-N	1667	SPECIALIZED HAND MOWING	10	MHR	55.00	550.00	75.00	750.00	55.00	550.00
0058	6117000000-N	1675	RESPONSE FOR EROS CONTROL	7	EA	350.00	2,450.00	0.01	0.07	350.00	2,450.00
0059	6117500000-N	SP	CONC WASHOUT STRUCTURE	1	EA	1,500.00	1,500.00	321.00	321.00	1.00	1.00
0060	6123000000-E	1670	REFORESTATION	0.1	ACR	5,250.00	525.00	9,000.00	900.00	5,250.00	525.00
0061	6132000000-N	SP	GENERIC EROSION CONTROL ITEM (EA) PREFABRICATED CONCRETE WASHOUT	3	EA	1,500.00	4,500.00	300.00	900.00	650.00	1,950.00
<b>STRUCTURE ITEMS</b>											
0062	8017000000-N	SP	CM&R TEMP ACCESS ***** (18+36.00 -LREV-)	Lump Sum			0.01		0.01		5,700.00
0063	8035000000-N	402	REMV EXIST STR ***** BRG (402) (18+36.00 -LREV-)	Lump Sum			30,000.00		110,000.00		67,485.00
0064	8065000000-N	SP	ASBESTOS ASSESSMENT	Lump Sum			1,000.00		2,500.00		1,575.00
0065	8096000000-E	450	PILE EXCAVATION IN SOIL	63	LF	520.00	32,760.00	375.00	23,625.00	291.33	18,353.79
0066	8097000000-E	450	PILE EXCAVATION NOT IN SOIL	77	LF	600.00	46,200.00	375.00	28,875.00	545.46	42,000.42
0067	8121000000-N	412	UNCL STR EXCAV STA ***** (18+36.00 -LREV-)	Lump Sum			15,000.00		5,220.10		7,000.00
0068	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	57	CY	905.00	51,585.00	1,900.00	108,300.00	1,332.63	75,959.91
0069	8210000000-N	422	BRG APPR SLAB ***** (18+36.00 -LREV-)	Lump Sum			32,000.00		60,000.00		32,100.00
0070	8217000000-E	425	REINF STEEL (BRIDGE)	7,866	LB	1.25	9,832.50	0.99	7,787.34	1.82	14,316.12
0071	8364000000-E	450	HP12X53 PILES	210	LF	75.00	15,750.00	0.01	2.10	69.54	14,603.40
0072	8505000000-E	460	VERT CONC BARRIER RAIL	170	LF	208.00	35,360.00	251.06	42,680.20	208.75	35,487.50
0073	8608000000-E	876	RIP RAP II (2'-0")	235	TON	100.00	23,500.00	36.26	8,521.10	68.75	16,156.25
0074	8622000000-E	876	GEOTEXTILE FOR DRAINAGE	260	SY	1.00	260.00	3.75	975.00	4.67	1,214.20
0075	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			3,100.00		3,602.55		3,150.00
0076	8753100000-E	430	3'-0"X 2'-9" PRESTR BOX BEAM	935	LF	437.00	408,595.00	350.00	327,250.00	367.90	343,986.50

51609.3.1

TIP NO HB-0072

0.126 MILES

FED AID NO 5160901

GRADING DRAINAGE PAVING STRUCTURE

BRIDGE NO 199 OVER FORD CREEK ON SR 1629 FLAT ROCK ROAD

	S T WOOTEN CORPORATION WILSON, NC		SANFORD CONTRACTORS INC LEMON SPRINGS, NC		SMITH-ROWE, LLC MOUNT AIRY, NC	
CONTRACT TOTAL	TOTAL	1,176,773.10	TOTAL	1,227,200.00	TOTAL	1,241,014.25
ROADWAY ITEMS	SUB-TOTAL	471,830.59	SUB-TOTAL	497,861.60	SUB-TOTAL	561,926.16
STRUCTURE ITEMS	SUB-TOTAL	704,942.51	SUB-TOTAL	729,338.40	SUB-TOTAL	679,088.09

51609.3.1

TIP NO HB-0072

0.126 MILES

FED AID NO 5160901

GRADING DRAINAGE PAVING STRUCTURE

BRIDGE NO 199 OVER FORD CREEK ON SR 1629 FLAT ROCK ROAD

FSC II LLC DBA FRED SMITH  
COMPANY  
RALEIGH, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum			68,500.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum			16,000.00
0003	0036000000-E	225	UNDERCUT EXCAVATION	200	CY	40.00	8,000.00
0004	0043000000-N	226	GRADING (226)	Lump Sum			125,500.00
0005	0050000000-E	226	SUPP CLEARING & GRUBBING	1	ACR	1.00	1.00
0006	0134000000-E	240	DRAINAGE DITCH EXCAVATION	20	CY	40.00	800.00
0007	0195000000-E	265	SELECT GRANULAR MATERIAL	200	CY	30.00	6,000.00
0008	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	200	SY	5.00	1,000.00
0009	0248000000-N	SP	GENERIC GRADING ITEM (LS) TYPE 1 BRIDGE APPROACH FILL (-LREV- STA 18+36.00)	Lump Sum			13,000.00
0010	0318000000-E	300	FND CONDIT MATL MINOR STRS	10	TON	40.00	400.00
0011	0321000000-E	300	FND CONDIT GEOTEXTILE (4A)	40	SY	5.00	200.00
0012	0335200000-E	305	15" DRAINAGE PIPE	40	LF	100.00	4,000.00
0013	0348000000-E	310	*** SIDE DRAIN PIPE ELBOW (15")	4	EA	500.00	2,000.00
0014	0448200000-E	310	15" RCP CULV CLASS IV	52	LF	109.00	5,668.00
0015	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	50	SY	110.00	5,500.00
0016	1491000000-E	610	ASP CONC BASE CRS B25.0C	480	TON	114.00	54,720.00
0017	1519000000-E	610	ASP CONC SURF CRS S9.5B	370	TON	130.00	48,100.00
0018	1575000000-E	620	ASP FOR PLANT MIX	50	TON	650.00	32,500.00
0019	2000000000-N	806	RIGHT-OF-WAY MARKERS	10	EA	300.00	3,000.00
0020	2286000000-N	840	MASNRY DRAINAGE STRUCT	3	EA	4,250.00	12,750.00
0021	2367000000-N	840	FRAME W/2GRTS 840.29 STD	3	EA	1,125.00	3,375.00
0022	2556000000-E	846	SHOULDER BERM GUTTER	80	LF	70.00	5,600.00
0023	3030000000-E	862	STL BEAM GUARDRAIL	350	LF	24.00	8,400.00
0024	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	11.00	55.00
0025	3215000000-N	862	GR ANCHOR TYPE III	4	EA	2,250.00	9,000.00
0026	3287000000-N	862	GR END TYPE TL-3	4	EA	3,250.00	13,000.00
0027	3635000000-E	876	RIP RAP, CLASS II	100	TON	70.00	7,000.00
0028	3649000000-E	876	RIP RAP, CLASS B	60	TON	70.00	4,200.00
0029	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	500	SY	1.00	500.00
0030	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	8	EA	20.00	160.00
0031	4400000000-E	1110	WORK ZONE SIGNS (STAT)	426	SF	8.00	3,408.00
0032	4410000000-E	1110	WORK ZONE SIGNS (BARR)	94	SF	10.00	940.00
0033	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	2	EA	7,000.00	14,000.00
0034	4445000000-E	1145	BARRICADES (TYPE III)	64	LF	28.00	1,792.00
0035	4685000000-E	1205	THERMO PVT MKG LINES 4"90	2,740	LF	2.10	5,754.00
0036	6000000000-E	1605	TEMPORARY SILT FENCE	975	LF	2.40	2,340.00
0037	6006000000-E	1610	EROS CONTRL STONE CL A	75	TON	1.00	75.00
0038	6009000000-E	1610	EROS CONTRL STONE CL B	140	TON	1.00	140.00

51609.3.1

TIP NO HB-0072

0.126 MILES

FED AID NO 5160901

GRADING DRAINAGE PAVING STRUCTURE

BRIDGE NO 199 OVER FORD CREEK ON SR 1629 FLAT ROCK ROAD

FSC II LLC DBA FRED SMITH  
COMPANY  
RALEIGH, NC

0039	6012000000-E	1610	SEDIMENT CONTROL STONE	80	TON	1.00	80.00
0040	6015000000-E	1615	TEMPORARY MULCHING	0.5	ACR	1,500.00	750.00
0041	6018000000-E	1620	SEED FOR TEMP SEEDING	100	LB	1.00	100.00
0042	6021000000-E	1620	FERT FOR TEMP SEEDING	0.5	TON	400.00	200.00
0043	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200	LF	1.00	200.00
0044	6029000000-E	SP	SAFETY FENCE	260	LF	2.00	520.00
0045	6030000000-E	1630	SILT EXCAVATION	190	CY	1.00	190.00
0046	6036000000-E	1631	MATTING FOR EROS CONTROL	5,745	SY	0.20	1,149.00
0047	6037000000-E	1629	COIR FIBER MAT	100	SY	5.80	580.00
0048	6042000000-E	1632	1/4" HARDWARE CLOTH	220	LF	4.00	880.00
0049	6071002000-E	1642	FLOCCULANT	35	LB	3.00	105.00
0050	6084000000-E	1660	SEEDING AND MULCHING	0.5	ACR	6,000.00	3,000.00
0051	6087000000-E	1660	MOWING	0.5	ACR	300.00	150.00
0052	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	5.00	250.00
0053	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	500.00	125.00
0054	6096000000-E	1662	SEED FOR SUPP SEEDING	50	LB	5.00	250.00
0055	6108000000-E	1665	FERTILIZER TOPDRESSING	0.5	TON	500.00	250.00
0056	6111000000-E	SP	IMPERVIOUS DIKE	232	LF	50.00	11,600.00
0057	6114500000-N	1667	SPECIALIZED HAND MOWING	10	MHR	75.00	750.00
0058	6117000000-N	1675	RESPONSE FOR EROS CONTROL	7	EA	20.00	140.00
0059	6117500000-N	SP	CONC WASHOUT STRUCTURE	1	EA	1,000.00	1,000.00
0060	6123000000-E	1670	REFORESTATION	0.1	ACR	5,250.00	525.00
0061	6132000000-N	SP	GENERIC EROSION CONTROL ITEM (EA) PREFABRICATED CONCRETE WASHOUT	3	EA	1,000.00	3,000.00
<b>STRUCTURE ITEMS</b>							
0062	8017000000-N	SP	CM&R TEMP ACCESS ***** (18+36.00 -LREV-)	Lump Sum			25,000.00
0063	8035000000-N	402	REMV EXIST STR ***** BRG (402) (18+36.00 -LREV-)	Lump Sum			95,000.00
0064	8065000000-N	SP	ASBESTOS ASSESSMENT	Lump Sum			2,000.00
0065	8096000000-E	450	PILE EXCAVATION IN SOIL	63	LF	700.00	44,100.00
0066	8097000000-E	450	PILE EXCAVATION NOT IN SOIL	77	LF	700.00	53,900.00
0067	8121000000-N	412	UNCL STR EXCAV STA ***** (18+36.00 -LREV-)	Lump Sum			35,000.00
0068	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	57	CY	1,500.00	85,500.00
0069	8210000000-N	422	BRG APPR SLAB ***** (18+36.00 -LREV-)	Lump Sum			26,000.00
0070	8217000000-E	425	REINF STEEL (BRIDGE)	7,866	LB	3.00	23,598.00
0071	8364000000-E	450	HP12X53 PILES	210	LF	70.00	14,700.00
0072	8505000000-E	460	VERT CONC BARRIER RAIL	170	LF	210.00	35,700.00
0073	8608000000-E	876	RIP RAP II (2'-0")	235	TON	70.00	16,450.00
0074	8622000000-E	876	GEOTEXTILE FOR DRAINAGE	260	SY	6.00	1,560.00

51609.3.1

TIP NO HB-0072

0.126 MILES

FED AID NO 5160901

GRADING DRAINAGE PAVING STRUCTURE

BRIDGE NO 199 OVER FORD CREEK ON SR 1629 FLAT ROCK ROAD

FSC II LLC DBA FRED SMITH  
COMPANY  
RALEIGH, NC

0075	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			9,000.00
0076	8753100000-E	430	3'-0"X 2'-9" PRESTR BOX BEAM	935 LF	426.00		398,310.00
			CONTRACT TOTAL		TOTAL		1,378,990.00
			ROADWAY ITEMS		SUB-TOTAL		513,172.00
			STRUCTURE ITEMS		SUB-TOTAL		865,818.00

**BIDDERS IN ORDER**

**CONTRACT TOTAL**

S T WOOTEN CORPORATION	1	1,176,773.10
SANFORD CONTRACTORS INC	2	1,227,200.00
SMITH-ROWE, LLC	3	1,241,014.25
FSC II LLC DBA FRED SMITH COMPANY	4	1,378,990.00